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Each objective question is provided with a text and/or figures wherever applicable with multiple
answer choices (A), (B), (C) and (D). Only one among them is correct and most appropriate answer
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OMR sheet and marking the most appropriate answer.
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mandatory to be written on the OMR sheet in the box and bubble appropriately, failing which, the
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Space available in the booklet could be used for rough work, if required. No separate sheet will be
provided.
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weaT 9T F18/Question Booklet Code A

01. P 9ehR & Gl & 31T8renier a1geh & / Majority carriers of P type material

A. sawcld/Electrons

B. f@®g/Holes

C. Weld/Protons

D. 3a# ¥ HIs sIgi/None of the above

02. Wolerd FTAAT & ST Il & / Flux Linkages equals

A. oIS 0T I & &9 / Flux times area of core
ECELEIL TR T JEaT It I & &7/ Flux times number of turns times area of core

C.  WFeIard (ot ST hT TEAT 0T R T ofsiTs / Flux times number of turns times length of
core

D. WT’TTW@TH"@JT/ Flux times number of turns

w

03. WA T FTCRIET 379 &1 o 3T TRTee b 2 / The Resistance of material is

its area of cross section

A.  3TIhATIATAT / directly proportional to
B.  S¥cshATIUICH / inversely proportional to
C. ¥dd/independent of
D. @& &Y/ equal to
04.  ATIHTT H gig & A Ueh dleleh T JToRIEThl / The Resistivity of a conductor
with an increase in temperature
A. 9% ST g/ increases
B. & & STl g / decreases
C. dgITEdrg/ remains the same
D. Y=gl Sl ¢ / becomes zero

05. Aot 3 9g ar §enRa 9 uF 3R 18uF & et &TRAT 81T / Two capacitors 9 uF and 18 pF in

series will have a total capacitance of

A. 27 pF
B. 162 uF
C. ©6yuF
D. 180 pF
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06.

07.

08.

09.

10.

Teh IROY H 45mA eRT§1 3 &/ The current in a circuit is 45mA. This is

A.  0.045A
B. 0.00045A
C. 0.0045A
D. 0.45A

8Tl 9dTd / The Hall effect

A. SIEEIR 3AET & {9+ Uh uesT § / is a phenomenon with no practical
applications

B. faffieer dax 3ot # gEcATel fohaT ST 8 / is used in various sensor applications
C. BRI dlec & fasral o TAsfAT X Tahd & / can develop potentials of thousands of

volts ;
D. dRdd WQTH % TIT AR & / is the basis for solar cell operation

WO & fopaet 33 v ol 9% a1 wfaf@f®ca #tar & / How many degrees of phase
represents one full cycle?

A. 360
B. 180
C. 270
D. 90

Teh TRYE LRI TR 379t 3RUR 100 Aeliaiee AT §1 g 25A & Teh &R T e el

g1 3T qRdUY FT grEdae YR FAT §2 / A precision current shunt is measuring 100

millivolts across it. This indicates a current of 25A. What is the actual resistance of this
shunt?

A.  0.004 O
B. 0.040Q
C. 0250
D. 250Q

AEIAEY & ITelsh dR 2TE & IRUR [AFITai@d adie & &1 oo ITeleh dR 88 37hel o a1y
SIS & 37 T ST §, AR gAY BR FI FHIAT Aleieh AR Sl g1 0.6 -dlec T ST FAT

Hohd &IAT &7 / The leads of a multimeter are across a diode in the following manner. Red

lead connects to the end of diode with marking band, and the black lead connects on other
end. What does a reading of - 0.6 volts indicate?

A. 3 HTRATA, el AR STI ¢ae & SeT el &
forward bias, leads connected with proper polarity
B. WcU =T, TTereh AR 3Tt ¢ae & STsT gelr &
reverse bias, leads connected with proper polarity
C. 37 AT, TTerh AR Scshdl Yacll & S[ST T &
forward bias, leads connected with reverse polarity
D. wdlra 31fafa, aTeres aR Scshd Yaar & S[sT glar &

reverse bias, leads connected with reverse polarity

2 |
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1. e U 91w 3@ 1 2, 59 IRYY 1 el TToRIL &A1 82 / Refer to Figure below, What is

the total resistance of this circuit?

R1 10Q

R

R3
50

48 Volts——

R2
10Q

R4 R5

R6 100 100 10Q
A 10Q
B. 25Q
C. 40Q
D. 55Q

12, ©eh Hehd T 3gfea TAefaf@d & & @ sgepaAmurdr §: / The frequency of a signal is

inversely proportional to which of the following:

A. 37af®r/ period

B. 311 / amplitude
C. U1/ phase

D. drd/ power

13, &0 fow 1w 3@ &1 &@| 20V & Ueh dieedl T 1 Hedel ars IR faaga smafd & efa &

HIYT ST §| HFafafad & & @l a1 Tenfad SROT 2 / Refer to Figure below. A voltage

level of 20 V is measured at the output of the power supply with no load attached. Which of
the following is the probable cause?

i1 nar_
T 10 volts lr Onutpis

F :
R1 21i¢g / R1 shorted
C1ger/ C1 open

D1 2licg / D1 shorted
D3 gelT/ D3 open

o0 >
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14, 0.707 & I[UTeh T Sharer RIGT & aof Aewr 777 3 aRafla 2ot & T e @r & / The factor

of 0.707 for converting peak to rms applies only to

A.  FINHR 3T/ Square Wave

B. TSR T/ Triangular wave
C. IS« @1/ Sine wave

D. 3IRTEdT a3/ Saw tooth wave

15, e HUTRE AT HIT T § / What does a capacitor store

dreedr / Voltage
YRT / Current
3Maer/ Charge
T / Power

oo w>

16.  Ten 3787 aeT IRUY &7 AT fese ¥RT dieedr Ferdd Afdse deear &

e & / The averaged dc voltage of a half wave rectifier circuit is of the value
of the peak input voltage

A. 63.6%
B. 31.8%
C. 4.8%
D. 6.2%

17, T 12V $ 48AH & Torw AERd 81 afe I8 3icT 2A Yerel e & Y, GeRIaere &I sield

F Ugol fohdell 3T d& ol I / A 12V battery is rated for 48AH. If it must deliver an
average of 2A, how long will the battery last before it needs recharging.

48 Tc/hours
4 g¢/hours
2 g¢/hours
24 g¢/hours

oo w >

18. SRR AYIT HET & ¥ T fHAT ST & / A dynamometer instrument is mainly

used as

A. 3T UHRT/ dc ammeter

B. dcHRY / wattmeter )

C. @I aleedie / de voltmeter
D. 3ie&dREI / ohmmeter
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19. &R feare are aRger #, B 1 A & / In the circuit shown below, the output at B is

!;‘é; AN, ] ~ L
D ;
|
A.
P
\_/
B.
/ 2\
\_/
C.
\_/
D.

_/
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20. T & 37AEAT & YR I ST HIAT FAT § / Vaporization refers to the
change in state of matter from

3T & 3T/ solid to gas
BT & &a / solid to liquid
&g @ 39/ liquid to gas
T T ga/ gas to liquid

OO0 w P

21. U GHTET haol & &7 AT &2 / What are the characteristics of a coaxial cable?

A. WWWH%HWW%I / It has twisted pair with a shield.
B. ¥ faega’ierss ¥ Mg Ueh e dlefeh §, 38 F1a AT IT 31 STedl wlersh 3R iy

iaaqoa'\fl‘?jll / It has a centre conductor covered with an insulator, then braided Or solid
outer conductor and then insulation.

C. Tg AR dhefeil T Jelell # FNT fAGIRI 1 / It has heavier insulation than most

cables.

D. g 3= 3gfcd safaeiur & igT A 51/ It is vulnerable to high frequency interference.

22. iR @ aTw aRuy 7, 9T ST S FATE? / In the circuit shown below, what is the function
of the inductor?

W~

D)
N

'l

A. 3Ta Ag el / high bass filter
B. Toe 9 heeX / low pass filter
C. o3 9Re et/ band pass filter
D. 3% fheeX / band stop filter

23.  afay : ¥ TAgid T F1H Fd & / Oscillators operate on the principle of
A.  YeTcH YaATaer / Positive feedback
B. W%ﬂﬁa‘%ﬂ Negative feedback
C. T9der YRROT/ Signal feedthrough
D. &flurel / Attenuation
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25.

26.

27,

28.

a7 I Ueh VTR &, forgepr Reie &Ry

w9 93T FIZ/Question Booklet Code A

& T yag gldr £ / Class C is an

amplifier whose output current flows for

oo w»

FquT fAfdse =k / the entire input cycle

Hqot fAifase =Ish & Tofelr # 3 & T / less than one-half the entire input cycle
aquf feifase =5 & g/ twice the entire input cycle

Tyt faifase =g &I Jefell 7 3 § STeT / greater than one-half the entire input cycle

TR e el HIl HTAT HT FEATS HAT ST § / Permanent magnet moving coil
instrument can be used in

oo w >

&% T &1 7 / ac work only

alAT 1Y 3R T &1 F / both de and ac work
A% S1EY &1 7 / de work only

o SIET o THT &1H H / neither dc nor ac work

faerarereT foRier forg #iey & #TT ST 87 / Insulation resistance is measured by which

meter?

A. araaeeif/ Oscilloscope
B. ddTA/ VIVM

C. d A/ Wien bridege
D. #IR/Megger

TeTSal H Yehrer 3chfoid gidT &, it / In LED, light is emitted because

O o w>

TGN ATgeh I YT HATIoT g1 & / Recombination of charge carriers takes place
SRS 18 g1 ST & / Diode gets heated up

3RS 9T IR & gehrer uRaf¥id g1 ST & / Light falling on the diode gets amplified
oI & foram & HROT Yehrer TRafdd &1 ST & / Light gets reflected due to lens action

AT Fafa igsedRI &/ SCR is

oo w >

31farafa A@mersT / Uncontrolled device
foraTeeh / Regulator

S f¥a @ / Controlled device
VFCHIHRR / Amplifier
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29. U I 3T T R aleedr F1 § i 220 VAC G931 ATET Hof HIGT 52 / What is the peak
voltage of a sine wave that measures 220 VAC rms?

A. 155V
B. 169V
C. 311V
D. 440V

30. SolaclaFd H il AT 379Td IR & AFg TH W7 & & F H1F HIAT 8?7 / What is an

element in electronics which serves as a protection against overload?

A. Wl /Fuse

B. ufcRIeeh / Resistor

C. 3184 / Mica

D. d#HmhsFeX / Semiconductor

31. g YR &1 aRuer = fe@me 1w & / What type of circuit is shown below?

R, 100
A2
SR ’ e .,. N '—N~
= RI0Q  R100 - RA0Q <
T | {T‘ |
L ANA i )
RA0D

AT 9R9Y / Parallel Circuit
Ao-FHAIAR / Series-Parallel
grg-4ofr a2y / Wye-series Circuit
oft 99y / Series Circuit

oo w >

32, THTRSFET T T 3&160T & / An example for semiconductor

A. dre/ Copper

B. QAT / Aluminium
C. 3% /Mica

D. S / Germanium
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33.  PNP gifaeey & Reifaf@d sa & / PNP transistor has the following arrangement

A. P YR T IR, N JHR & Scdoteh, P R & HIATGH
P type base, N type emitter, P type collector

B. P YR &l 3cdoieh, N TR & TR, P YR FHI GG
P type emitter, N type base, P type collector

C. P WK &1 Gageh, N YR &l YR, P YR H Scdolh
P type collector, N type base, P type emitter

D. P YR &I 3cdoie, N TR T HITgeh, P TehR T TR
P type emitter, N type collector, P type base

34,  gdg AFATT & SN T 311eeT Sras uiaer @1 gfokier § / Resistance of an ideal diode

resistance during reverse biasing is

A. =3I/ Zero

B. s&rs/ Unity

C. 3Ff&&d#d / Maximum
D. 3%d/ Infinite

35. giforeey & CB fd=ama &, @31 gfdemm §: / In CB configuration of transistor, the output

impedance is:

A. 3=/ High

B. #AYIH / Medium

C. T&/Low

D Wﬁ@aﬁéﬂﬁ/ None of the above

36.  YUT AT fgsesry & forw Fidenr a[ureh § / Ripple factor for full wave rectifier

DowWP>
[6)]

37. wehray $rs@1s 8: / Light year is a unit of:

A.  FHI/Time

B. 9T/ Velocity

C. glI/Distance

D. ©aur/ Acceleration
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38.

36.

40.

41.

42.

fArfaf@d & @ @i degaaits Ret &1 v 3ifAary gee & / Which one of the following is

an essential component of electromechanical relays?

oo w >

JwISC B8 / Graphite rod

Qﬂégl / LED
fdeg e / Electromagnet
TAIN.TH.UE.S.E / MOSFET

&I VFCRlThRIRT o TI4TeTeT T TROTH 8191 / Cascading two amplifiers will result in

A

B.

THI oIS H wgATnoT AR ey ds wisTg & gig

reduction in overall gain and increase in overall bandwidth
THIY AT H wGAh0T IR FHT d3 TS & geiepior
reduction in overall gain and reduction in overall bandwidth
A 1 A g AR Foar I3 <ers 7 gfg

increase in overall gain and increase in overall bandwidth
THI 1 A giig R T I wisTs 7 wgeieor

increase in overall gain and reduction in overall bandwidth

U STaRIee & A1 Ueh FUTRT ST IR & Ao 7 §, ar ary (1) 3R dieedr (E) & €1 Taer
FAT &2 / What is the relationship between current (I) and voltage (E) in a circuit consisting
of a capacitor in series with a resistor?

oo >

TR & 3RUR | 3 E TROTF § /| and E are in phase across the capacitor
gfaRIYe o 3IRYR |, E A 3T g1ar g / | leads E across the resistor
TETRT & IRUR E, | T 3T g1ar g / E leads | across the capacitor
gfoRIers & 3IRUR | 3R E EITUTﬁ%V/ | and E are in phase across the resistor

THIHRA IRIYT H TAATT WT STAaTel TFH AR IC & / The most popular IC used in

timing circuit is

oowp

555
741
LM317
7400

Wmmqﬁwﬁmﬁﬁﬁwﬁaﬁmm%ﬁwmaﬁwmmop-

amp circuit that has its output tied directly to the inverting input signal is called

oo >

&IRT 371311 / Current follower

aleed 371amT / Voltage follower

g fAd TFCelBIAR / Inverting amplifier
HHThelh / integrator

[0 ]
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43. T ThpacHE yats o afader e Je @ @9H dleear @ 9ed Thd § / What

specification of an operational amplifier give how fast the output voltage can change

A. Hﬁﬁﬂ@%/ Frequency response
B. WY fafer faecieor 314t / Common mode rejection ratio
C. ‘;:,,‘ETEI‘PSIHE\T/ Slew rate
D. ﬁagrm%ral«aal o187 / open loop voltage gain
44, TR agﬁfrsr 2/A stable multivibrator is
A. dITR T FIele / a square wave clock
B. fau-trellq & e / equivalent to a flip-flop
C. Tehol I Sgehfd= / a one shot mulitivibrator
D. usfeufde Sgehids / Monostable multivibrator

45. 16 9T TR e [ECH ! &gl ST & / The number system with base 16 is called

A.  SfI3maRT @& gumelT / Binary number system
B.  3rscrerdl §EAT youTrell / Octal number system
C. WISHAd T&IT YUTTell / Hexadecimal number system
D. AT &IT YuTTalT / Decimal number system
46.  TH IH Egar g1/ Atriacis a switch.
A. T¢I / Unidirectional
B. T3 / Mechanical
C. gfafeelr/ Bidirectional
D. foudia &/ reverse directional

47.  UE UROY T 57 a¥g TR T SI1aT 8, T 50 et 324 §, ofe g&es @8l Afase 3=
T® &/ A circuit that operates in such a way that its output is high when all its inputs are high

A. TUTss/AND
B. 3iR/OR

C. &ic/NOT
D. &5 /NAND
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48.

49.

50.

1.

52.

cfa37ht e gerHed # gALM fyeg wfa gwar § / BCD code has always bits
per number.

0O w»
- 00 AN

6

31T 39T & &1, 1 + 1 = / With OR operation, 1 + 1 =

A1
B. 0
C. 10
D. 2

a8 vd. & fow enfores 0 &1 T ateedr I § / An acceptable voltage range of a logic 0
for TTL

0¥0.8V/0t00.8V
0F1.5V/0to 1.5V
285V /2to5V

3.585V/3.5t05V

o0 w>

Tk e TR, Toreat 3ifoe ferg-treita & fo¥siar I et ora-wreta & ffase & Ser @

/ A Shift register in which the output of the last flip-flop is connected to the input of the first
flip-flop

ST 31fors / BCD counter

A.

B. ®HIGR IO / Parallel counter
C. e aforT/ Ripple counter
D. g JuIF / Ring counter

AR RR@me are onferes aRuy &, Rt F=

In the logic circuit shown below, the output F =

“T) D"

DOow»
XX =0

2 |
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53. U Efc H 31ichsT HaY I gl SiTell § / Data storage in a memory is termed as

A.  TAIOT/ memorizing
B. U&/reading
C. o@s/ writing
D. &#ROT/loading

54. U a1sc A fohdel foe®@ §2 / How many bits are in a byte?

OO w»
= 00 DN

55. ﬁwaﬂaﬂﬁmqﬁﬂmﬁaﬂﬁqﬁﬂmﬁmﬁﬁmglltconmﬂsanon

electrical physical quantity to an electrical quantity

A. TESIET/ Transducer
B. uRade® / Converter

C. udgs / Inverter

D. &efera/ Compiler

56.  &fa3merr &ar 1010 3{T 0011 T A9 @Wiet / Find the sum of binary number 1010 and 0011

A. 1021
B. 1101
C. 1011
D. 1111

57. -8 §UR H WISl ol F AEH O AT © £/ Files in an E-mail communication are

send thru

A. 3=/ disk

B. A& / mailbox
C. dR/wires

D. HdT / attachment
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58.  dTYH ST STet UX AT & ) & STaIe 7 Fa71 811 82 / What happens in the resistance of
copper wire when its temperature is raised?

A.  &H BT g/ Decrease
B. dgdrg/Increase

C. 3mRafdd/ Steady
D. R/ Zero

59.  FHIX #H 53 AT & 32T § / The purpose of cells connected in parallel is to

HicaRer Ticrer # gfg / increase internal resistance
dleedr foteta 3 gfg / increase voltage output

RT Wﬁ?{%/ increase current capacity

YRT &THdT H HAT / decrease current capacity

oo w >

60.  SHISTARUT $T9T T AN FHLMeT 3TST & 3feJdTe; FlA o [T SEAATE [hT STeAaTel T YIATH I Hgl

ST § / The System program used to translate directly an assembly language to machine
language is called

A. Hefora / Compiler

B. Isicieh / Assembler
C. YTo dUIee / Text editor
D. gIyHTeis / Debugger
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ANSWER KEY

Question Booklet Code A

- Q.No. | Ans. Key Q. No. | Ans. Key - Q. No. | Ans. Key
01 B V 21 B 41 A
02 D 22 B 42 B
03 B 3 A 43 C
04 A 24 B 44 A
05 Cc 45 .C 45 Cc
06 A 26 D 46 Cc
07 B 27 A 47 A
08 A 28 C 48 B
09 A 29 Cc 49 A
10 C 30 A 50 A
11 B 31 B 51 D
12 A 32 D 52 A
13 D 33 Cc 53 Cc
14 Cc 34 D 54 Cc
16 Cc 35 A 58 A
16 B 36 D 56 B
17 D ar Cc 57 D
18 B 38 Cc 58 B
19 A 39 D 59 Cc
20 Cc 40 D 60 B

PS:-  Any objections/queries in the Answer Key may be sent through email to

career@iprc.gov.in on or before 23.12.2016 (Friday) 15:00 Hrs. If no
objections are received before the stipulated date, the Answer Key will be
deemed legitimate.



